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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Who among the following was proclaimed as the first German Emperor in
18717 1
(A)  William I
(B) William II
(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV
2. Why were some of the Muslim political organisations in India lukewarm
in their response to the Civil Disobedience Movement ? Give the main
reason. 1
3. Why were manuscripts not widely used in India before the age of print ? 1
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4. ‘fare T o AE@h B U ?
STraT

~

‘ 3TTeH3” IUATH o Ak hid o ? 1

5. Tk Tam 1 gfd HINT 1
- gell G SIS T |

6. oW g 1
(A) ST T BUE
(B) RIS W BUTS
(C) FH-9F AT IRl & 90 & S 7@ 6l Tadg
(D) U T B

7. Tfafea # @ fee war 8 f6 “ggur Swar 1 & g8 weMan ¢ 7, 99 w9
B1” 2 1
(A) 39 Ies
(B)  3TSITgH Tetehd
(C) wIféA R
(D)  W&TeHT Tieft

8.  3Iugw gudl ¥ fmfafaa @iferet & Tk woret w61 g hifre Iylog

THTAT o STYR 9 G919+

REIBE] IETET / THR
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B) e i i o S
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4, Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
5. Fill in the blank : 1
Young Italy was formed by
6. ‘Vellum’ is 1
(A) Printing on palm leaves
(B)  Printing on paper
(C) A parchment made from the skin of animals
(D) Printing on cloth
7. Who among the following said that “Printing is the ultimate gift of God
and the greatest one” ? 1
(A) Louis XIV
(B) Abraham Lincoln
(C)  Martin Luther
(D) Mahatma Gandhi
8.  Fillin the blanks of the following table with suitable information : é+ é =
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) Mineral and Fossil fuels

32 . PO
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9. 39 gggl-9ad 1 AW faRaw faer fowe greg oo o 9gd YR | gl e
& foru fopam mam | 1
ST
39 AgE-ue i AW fARaw foeert foem Sieen 9 % Sed YR ¥ bl
g o foru femam T | 1
10. O 3fvaeh ot gud Fefaiad § ¥ fhm T=a 4 foog & 2 1
(A) HAlCh
(B) ?ﬁ
©) arg
(D) I T
11. T=fafea 4 & 98 gafd SIg w1 == ShifT 1
(A) FHAA dA-8F — T
(B) ewrse & @M — RNy
(C) Tt AT ol TIA —  3nfesm
(D) VS A8 3k hl @H  — FNES
12. T wami 61 gid HIT é+é=1
“Mer 19 wTe’ TorE™I Rl T Joh © SATHI=Id hid @ :
T % ¥4 H 3R gE % ¥ Y |
13. it # fefcifiad § 9 sH-81 Sgaes a1 8 ? 1
(A) dHa
(B) 391
(C) Toged
(D) Hfem
14. G0 <l TTER] T STATIh § ? Ush hRU TT HifT | 1
e
THh dARhaieh oW % e H fafag @l wEl w feee @ #
SATEIAHAT 1 & ? hIs Ush HRUT fARIT | 1

15. Sfcoam 1 amerfis g’ # fafafiga o @ fras aea gor § aEied 2 2 1
(A) Tafis amfoes ogl & v
(B) &A% faftra o7 & wex
(C) g 3R T ATHR o e
(D) TSI TR 3R AMHEIH TR o Te
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9. Name the sea-port that was developed to relieve growing pressure on the
Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
10. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D)  Uttar Pradesh
11.  Choose the correctly matched pair from the following : 1
(A) Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha
Power Plant
(D) Mayurbhanj Iron Ore Mines — Jharkhand
12. Fill in the blanks : é+é=1
‘Gobar gas plants’ provide twin benefits to the farmers in the form of
and
13.  Which of the following is the majority group in Sri Lanka ? 1
(A) Tamils
(B) Christians
(C)  Sinhalese
(D) Muslims
14. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1

15. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1

(A) Different social groups

(B)  Different organs of government

(C) Central and State government

(D) State government and Community government

321411 T P.T.O.
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16. “9rd™ o 4 Sfa veor o+t off w=ferd @ 17 38 dHTed R o fU @IS U
YT GIST | 1
AT
“arg # weft-weft g Srfoet W Tl s € 17 3w foufa @ geso
YT ST Eehdl 8 2 1
17. ffafad 4 & 98 gafaa fases =1 ==  Hif 1
ey ] (fE @t 91) Ty 11 (fasra & &87)
(A) TorEm S =t & o — %M U % Al o qun S wwgh
shadt a8t | R 8
(B) Y& U0 HgT —  Topaml 1 3Rt 39S o e samer wme
qA
(C) U9 % Tgg fRam — fafm o
(D) el o1 &1 T oAfearel —  Sfifaesr ursH i gfd
18.  IfcAehl oh1 STEIIA <hifoTe a2 i feu U 9o =1 I difvme -
BTN, St 3R SRR % T qoriers JAfhs
o 3ufeufa srgum™
_— Rggg @ ufa | seRaT @ % | (I 100 Afh) IAR
1,000 Sk (2016) (2011) T (I 14 TA7 15
a¥) 2013 — 14
g 33 82 61
HA 10 94 83
EHK 38 62 43
q9d:
fope T 1 SR TR R ot ufedfa 1 o1uma g8 %a g ? 1
19. YRR NeNfieh =il i 3T FgH o folu i Ueh aliel sy | 1
20. XA ¥§ JaTeh & a1 HewqUl H &l @1 3 ? TE HRU TR FHIRT | 1
Jrra
TSR o Fey ¥ Tfed &k hl g@ glawm i Trse il | 1
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20.
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“Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR
“Sometimes elections are all about caste in India.” How can this situation
be avoided ? 1
Choose the correctly matched option from the following : 1
Column I (Category of Person) Column II (Development Goal)
(A) Farmers who depend only —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley
Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality : Net Attendance Ratio
State Rate per 1,000 Literacy Rate % (per 100 persons)
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
Suggest any one way to increase the income of Indian industrial workers. 1
Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1
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21. ffeifga sgror = ufer ot 3o = fou @ 9wt 1 3w Afve 1+1+1=3
|id — IR | TR
HETeHT Tt o forml 31T Tatret shl SAGERO o 91 H AogU <l 3191 wet off |
3TEH o SATH] #9gU o fOT TS 1 Aaes I8 o fob o 37 =IRdania 8 S«
g TS Fohd & TSH IRl ¢ hich TN T AT | 37k foI@ SATHAE! 1 Hdais
o foh I 31U Tiial & TYh T UG | 1859 % $ciS SMHINH UF o dgd SNl
H M H I ASIGU I o FANIA SWE 8 9@ W Al B T8l gt off,
3R IE 99 3= (ol &1 it Tt oft | 5fe S8 e Aeieq & R |
AT 1 BRI ASAGL T AR hl ST i T | I8 a1H 81 fou
3R 3 T ! I feU | 39eh1 ovrar of fop 319 Wikl U= o1 w1 @ sEfeu ofw
@ B ol Ma H A e Sl | @R 9 1ot Aiie W g8 9 | e
3R T HI gSATA o HRU 9 TEd H & B § T | 3% Yferd 4 qehg for
3R ITh! I @ e g8 |
(21.1) 37EH % SR A9GU o [T TS I SFFTURUM 1 T HIMT |

(21.2) ST TAEll i ST # e % w9 A 1859 % S sive U
%! T HIMT |

(21.3) WG % TEEN e § 5 o & T i w1 v il |
22, 3T YA % GUH TAUPE Sl gRT Sa U dH YR % YarEl o

W@ﬁ"'{l 1x3=3
AYaT

ISRl IAIeC] o 3 H WA o huel Iid H fREe = I8 36 2 Tee

HIT | 3
23. THS H GHIYHT o FFEN SR shl HEAT ol 9Ud shifoly | 3

YT

A Sfied o T TETeE] Al STa9dehdl sl 99 <hIfVT | 3
24, “vRa # @ qiEEd GEEsT § O 6l 8 |7 3Gl |igd 39 Ud I gfte

HiT | 3
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SECTION B
21. Read the extract given below and answer the questions that follows : 1+1+1=3
Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

(21.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(21.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(21.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

22, Explain the three types of movement or flows identified by the

international economists in the nineteenth century. 1x3=3
OR

Why did textile exports from India not decline in the late eighteenth

century ? Explain. 3

23. Describe the importance of an equitable distribution of resources in the
society. 3

OR
Describe the need of resources for human survival. 3

24, “Rail transport suffers from certain problems in India.” Support the
statement with examples. 3

321411 st o P.T.O.
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25. YR H whg 3 TA & s TxT & scar i fheal i fomiwarest w1 quH
sHifv | 1x3=3
26. WRA # nfgensti & i Yeurd & afiel w1 vl Hifs | 3
AT
g YR § Sifd 1 HEET IR TG SJaEAT W AW Seerdi i guia
hifoTe | 3
27. Tom "o &1 G T o HEise (Z.0A.EL ) w1 amee o e
W fova o o AMes § i 3 2 Tase i | 3
28. “orEmicd & H AR o TRV IR HEEAT hl EITHRAT 8 |7 T HAT HI
AT I | 3
AT
“Tsht gmrep <t Tifafafemt o1 Tg@ Iee a9 ANId ST Ba1 8 |7 39 S H
TR ST | 3
Qug T
29. U 1 gl TG & foh 1830 T Th JUT H WRI HicATSAT <ol ITRT ? HRUN
&l T HIfT | 5
AT
AIHTSIATE | YRt TFATG vt TR YoM fovd g o1 R0 41 20 HifT | 5
30. ‘arforsues Sy hit foredi uta fammareni =1 faveryor HifSw | 1x5=5
31. SIhad T TSHIfdeh Gell hl STTEAhdl hT U hHIfTT | 5
32. “Tlhdifeh STl TSHIfdeh THMAT W TG aldt & |7 3w dfgd 39
HIA i gfte KT | 5
33. “w9U WEEAl g U &1 % TSl i Tied P H HEE d & | el
afgd weH H1 gie HfvT | 5
rET
“HeT 1 FEAUTA gAR qiHeh SiTad o1 sigd 21 fewmn & 17 38N |igd U
gfte hifsr | 5
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25. Describe any three characteristics of distribution of power between the
Centre and States in India. 1x3=3
26. Describe the ways of discrimination faced by women in India. 3
OR
Describe the changes in castes and caste system in modern India. 3

27. On what bases is the criterion used by the United Nations Development

Programme (UNDP) for measuring development different from the one

used by the World Bank ? Explain. 3
28. “There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3
SECTION C
29. Why is it said that the 1830s were the years of great hardship in
Europe ? Explain. 5
OR
How did nationalism aligned with imperialism become the cause of the
First World War ? Explain. 5
30. Analyse any five features of Commercial Farming. Ix5=5
31. Describe the necessity of political parties in democracy. 5

32. “Democracy is based on political equality.” Support the statement with
examples. 5

33. “Self Help Groups (SHGs) are the building blocks of organisation of the
rural poor.” Support the statement with examples. 5

OR
“The use of money spans a very large part of our everyday life.” Support
the statement with examples. 5

| .32/4/1 st o P.T..
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34. Tr=faRaa |t 1 afey 31X 37k =l fu T et & 3 N 5

i A - faesft R s STl st uehrentun

STIR % G § TGl 1 Th SR 8 g TR H STENEE 8l 2 | ST H
3Tt & foehed o6 I 8 | € TSR | U & 9% 1 Yod UhHWH B ol
3 | 39 Gl < % IcUGHh Th-GE H TR HIA g BiR Wi Uh-gEt | Wil
H Thd 8 | 38 IR, faesh s fafi 2o & Sl 6 Sied A wehier §
HEI Bl 8 |

|id B - Ayeitentur

FEg3Tl, Tared, fraw ot denfieht & it fafie o 1 suw § Sred &1
Teh 3 HIEIH 81 Gohdl @ | I8 HILIH 7 iy eun o e A &1 STemme |
TR AT 9EaK 3T, SR USWR U9 foem i o § uh ow § g o H
AT hd & | fobeg, Torma & gl # 31e gfaeei o ror fafie <o &
e il o sfremTe o sfees gty TE gs # |

|ia C - fava =R &req
Ty fova IR Eea @t ¢un 1 Gk IR I giawr gar 8, W agr |
g <@ T 7 Tob foeRfYa gEni 4 g @ § SR GUehi Sl SRR W@l
3 | GE0 3R, ford AR e o Heml o faepesiia S o SR &l i
M % U foaw fovem 2 | 81 U 3TE FY 3G AR W IdHH
wEE g |
(34.1) G A - faresft SaTIR 3R STARIT 1 TehTeRToT

faeft =R SIS I HE THhihd AT 7 2
(34.2) @A B - AvATHUT

ATIehTur HE &l 3T HeTdat # wie wifafafy s faeaR wE R 2
(34.3) Ha C - fava =R wreA

“fova =R EMed % w1 IR fGlE 4 TeeQ 988w S e
g 17 %o T o fomm Tee HINY |
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34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321411 T P.T.0.
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35. (a Q M ‘A’ R ‘B U T WRa & TSHdeh {@I-AFeA (98 19 W) |
siferd fopu e 2 | 39 Tl B frafafaa S it e @ ve=fie
3 3Tk Tl W 3k e Gidll T8 t@redi w fafay . I1x2=2

(A) 98 ¥IH &l MlS 5 79 Hd arel |
(B) 9§ TIM &l WA TS e 1 SAfae gam |

(b) 3 feu MU wRa & UoHifde eraEtas 4 Fefafeaa § 9 et ww
w1 30 ol § guiey 3R Ik T e Ixd=4
(i) TIPS — g
(i) sHHEYL — I T I hg;
(i) IS — TG T
(iv) e — TIel Ud ST 8
(v) ST (T |El) — STisg gars aoq

(vi) 2eUEle — HIFeaIT SaIATS ITeh

Fie:  REliEd 397 9 giEanaa gherfa & v gv7 gear 35 F T ®
g | fegt &: yoa1 & 3w forfem

(35.1) 3§ TIM 1 AW fIRIC ST&f et 4 F9h T el |

(35.2) TSI o 39 LM 1 A1 fIRau Sgr fepami 3 ‘Temrg’ foma |

(35.3) 3 USY & AW [aIRGT &l ghe a9 Tod 7 |

(35.4) 39 TS &1 AW fIRaw el TRes <iig 31 i @+ fea 2 |
(35.5) S BTE da1 & ¥ TEied U 1 AW fafau |

(35.6) 3 U w1 A foARgu &t Fotw reT v gEdTd T fa ® |

(35.7) 39 TS 1 AW fIRaw Sref e aiet gars uo oo ® |

(35.8) USE o 39 TAE 1 I fafgu S@i @igeasr s ureh foord
7l 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6
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